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Section A (10x % inark )

Mental Sums

1. 6.
2. 7
3. 8
4. 9
5 10.

Section B (5 x 2 marks)

Choose the correct answer and write its number (1,2, 3 or 4) in the brackets
provided.

1. 5708 = 5000 + + 8

—_—— .

What is the missing number?

(1) 7000

2) 700

3) 70

(4) 7 ( )
12 6+6+6+6 = X 6 +6

What is the missing number in the box ?

(1 1

2 2

(3) 3 ‘

4) 4 ( )
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13.

14.

Mark and John have $2 000 together. If John has 5999, how much does Mark
have ?

(1)  $1001
() S1010
(3)  $1100
(4)  $110] ( )

Jia Ming collected 9 stamps. Ben collected 4 times as many stamps as Jia
Ming. How many stamps did they collect altogether ?

M 13
(2) 27
(3) 36

(4) 45 ( )

In a school, there are 18 more girls than boys. If there are 495 boys,
how many pupils are there in the school 7 '

(513
2 9%
(3) 1008
4) 1026 ( )

2 : Go to page 3



SectionC (15x1 mark )

Fill in each box with the correct answer.

16. Write 6098 in words,

17. Complete the number pattern.

1745, : » 2345, 2645

18, What is the value of the digit 4 inthe number 2 468 ?

19, Whatis 100 more than 1910 7

is 15 less than 1000 _
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21

23.

26.

Arrange these numbers in order, beginning with the smallest number.

1402, 124 2 104, 1042

Subtract 298 from thesumof 1857 and 1 645.

The answer is

What is the product of 27 and 5 ?

Form the biggest 4-digit number with the digits 3, 7,' 0 and 8.

Find the sum of 3 thousands, 5 tens and 12 ones.

What is the missing digit in the box ?

7 136
5 47
1 8 89

4 Gotopage 5



27.

28.

29.

Salmah is 3 years younger than Zul.
If Salmah is 12 years old, how old is Zul 7

years

Amirah had twice as much money as Mary,
If Amirah had $18, how much money did Mary have ?

S

Whatis 8 morethan 27 = 3 9

If there are 35 magazines on a bookshelf, how many magazines are there on
4 such shelves ?
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SectionD (5 x 4 marks )

Solve the foliowing problems.
Show your working clearly in the space provided.

31.  There were 1000 male spectators at a football match.
There were 210 fewer female spectators.

{a) How many female spectators were there ?
(b) How many spectators were there altogether ?

32. A washing machine costs $680. A refrigerator costs $336 more.

(a)  What is the cost of the refrigerator 7
(b} Whatis the total cost of the two items.

6 Go to page 7



33.  The entrance feetoazoois $6 for achildand $12 for an adult,
How much will it cost afa

mily of 2 adults and 4 children to visit the zog ?

LA

34, Mrs Lim had $50.

She bought 6 towzls. Each towel cost $8:
How much money had she left?

Go to page 8



35. Henry wants to buy a bicycle that costs $250. He has only $200.
If he saves $5 a week, how many weeks will it take him to save enough
money to buy the bicycle ?

End of paper

Have you checked your work?



1

16.

24,

26.

28.

30.

31a

Answer Sheets

Methodist Girls’ Pri 3 CAI / 2006 Mazhs

1) 2 12) 3 13) 1
Six thousand and ninety-eight.
2468 = 400

1000 — 15 = 985

1857 + 1645 = 3502
3502 ~ 298 = 3204

8730

7136 — 1889 = 5247
Ahmirah = $18.00
Mary  =$18 + 2 = $9.00

1 book shelf =
4 bookshelves

35 magazines
35x 4
= 140 magazines

. Male spectators 1000

Women spectators =

b. 1000 +790 = 1790 spéctators-

14) 4

17.

19.

21.

23.

25.

27.

29.

There are 1790 spectators altogether.
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i5) 3

1745, 2045, 2345, 2645
100+ 1910 = 2010 _

1042, 1240, 1402, 2104

27 x5 =135

3 thousands =3 x 1000 = 3000
5 tens =5x10 =59
12 ones =12x1 =12
3000 + 50 + 12 = 3062

Salmah = 12 years old

Zul =12 + 3 = 15 years old
27 =3 =9
8§ +9=1

1000 — 210 =790



32a. Washing machine = $680.00 .
Refrigerator = $680 + $336 = $1016.00

$1016.60

The refrigerator costs

b.  $(680 + $1016) = $1696
The two items costs $1696.00

33. Child = $6.00
4 children = $6 x 4 = $24.00
Adult = $12.00
2 adults = $12.00x 2 = $24.00

= $(24 + 24)= $48.00

It cost $48.060 for a famiiy to visit the zoo.
34, ltowel = $8.00

6towels = $8.00 x 6 = $48.00

$50.00 — $48.00 = $2.00

She left $2.00
35. Bicyle = $250.00

=$(250 — 200) = $50.00

$5.00 = 1week
$50.00 — 10 weeks (10x 5)

He took 10 weeks for him to save enough money to buy the bicycle
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